
1 

P A R T S   L I S T  

Item Qty Description Item Qty Description 

A 1 BA803 Adapter Brackets (1 Left & 1 Right) B 4 5/16” X 2 1/2” Hex Bolt 

C 4 1/4” X 1 1/4” Special Bolt (BAACRYLIC) D 4 1/4” Flange Nut (BAACRYLIC) 

E 1 Backboard F 1 Backboard Support Plate (BA803 Instruction Item O) 

—— Instruction Manual —— 

BA803 ADPT 
Adapter for 46A Backboard 

Date:  04/16/2019       Rev: 1        B.A.               N.J.C.                 File:  F\PUB\INSTR\PORT.BASES\BA803ADPT     Ref#: 930748 

Customer Service     
(800) 247-7668 

  Note: 
Refer to the BA803 instructions for Base Assembly prior to Backboard Installation. 

 Inspect all contents prior to installation.  Report any missing parts to dealer immediately. 
 

 Read all instructions before proceeding. 

  Note: 
The 5/16” X 3 1/2” Carriage Bolts (H) included in the BA803 Hardware 

 are not used for this application. 

1.    Using the 1/4” X 1 1/4” Special Bolts (C) and the 1/4” Flange Nuts (D) bolt the BA803 Adapter 
Brackets (A) to the Backboard (E). Leave bolts finger tight. See illustration on page 2 for correct 
orientation of the BA803 Adapter Brackets (A). 

2. Bolt the Backboard (E) assembly to the Adjustable Poles ( Item (D), BA803 Hardware) using the 
5/16” X 2 1/2” Hex Bolts (B), 5/16” Flat Washers (Item (I), BA803 Hardware), 5/16” Lock 
Washers (Item (J), BA803 Hardware), and the 5/16” Hex Nuts (Item (K), BA803 Hardware). See 
Illustration on page 2. 

3.   Tighten all hardware. 

  Note: 
Refer to the BA803 instructions to finalize assembly. 



2 

A

B

C

D

E

F

This surface

facing out

This end down


